
pag.1

HYDRAULIC COMPONENTS

O.M.F.B. S.p.A. Hydraulic Components
We reserve the right to make any changes without notice. 

Edition 2017.06 No reproduction, however partial, is permitted.
Via Cave, 7/9 25050 Provaglio d’Iseo (Brescia) Italy Tel.: +39.030.9830611 

Fax: +39.030.9839207-208 Internet:www.omfb.it e-mail:info@omfb.it

RACCORDI BOSCH
ALLUMINIO

ALUMINIUM BOSCH FITTINGS

113004CODICE FAMIGLIA
FAMILY CODE

C
od

ic
e 

fo
gl

io
: 9

97
11

30
04

10
   

Re
v:

 /
/	

D
at

a:
 G

io
ve

dì
 1

5 
gi

ug
no

 2
01

7

Codice
Code

Press.
max A I D H L N. fori

Fixing holes

Viti
Screws O-Rings

bar BSP N2 N2

11300400097
180

1/2” 35 18 18 42,5
4

M6x30 M6x45 3075
11300400131 3/4” 40 24 24 47,5 M6x35 M6x55 130


